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东华理工大学 2017 年硕士生入学考试初试试题

834 ; A

30 2 60
1 , V T p, VA,VB

pA, pB ,
----------------( )

(A) pVA= nART (B) pAVA=nART
(C) pAV= nART (D) pA(VA+VB)= nART

2. -393.7 kJ·mol-1

-395.6kJ·mol-1 ……………
(A) -789.3 kJ·mol-1 (B) 0
(C) +1.9kJ·mol-1 (D) -1.9kJ·mol-1

3. 2SO2(g)+O2(g) 2SO3(g) N2

………………………………………………
(A) (B)
(C) (D)

4. …………………………
(A) Sc La (B) Fe Co Ni
(C) Nb Ta (D) Cr Mo

5. 3d 4s ……………………………
(A) 3d 4s (B) 4s 3d
(C) 3d 4s (D)

6. 0.01 mol·dm-3AgNO3 0.01 mol·dm-3Sr(NO3)2 0.01 mol·dm-3 Pb(NO3)2
0.01 mol·dm-3 Ba(NO3)2 K2CrO4

……………………………………………………………………
(A) Ag2CrO4 PbCrO4 SrCrO4 BaCrO4

(B) PbCrO4 Ag2CrO4 SrCrO4 BaCrO4

(C) SrCrO4 PbCrO4 Ag2CrO4 BaCrO4

(D) PbCrO4 Ag2CrO4 BaCrO4 SrCrO4

( Ksp(Ag2CrO4) =1.1  10-12 Ksp(PbCrO4) = 1.8  10-14

Ksp(BaCrO4) = 1.2  10-10 Ksp(SrCrO4) = 2.2  10-5)
7. K (Carat) 14K
18K 24K 18K ………………………………

(A) 50% (B) 75% (C) 90% (D) 100%

8. ………………………………
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(A)
(B)
(C)
(D)

9. pH = 7 …………………………
(Ka(HAc) = 1.8  10-5 Kb(NH3) = 1.8  10-5 H3PO4 Ka1= 7.52  10-3 Ka2= 6.23  10-8

Ka3= 4.4  10-13 H2CO3 Ka1= 4.30  10-7 Ka2= 5.61  10-11)
(A) HAc-NaAc (B) NH3-NH4Cl
(C) NaH2PO4-Na2HPO4 (D) NaHCO3-Na2CO3

10. ------------------------------( )
(A) (B)
(C) (D)

11. --------------------------------------( )
(A) Cl- (B) Cl-

(C) Cl- (D) AgNO3 CN-( Ag[Ag(CN)2]
12. EDTA ------------------------------------------------------------( )

(A) Y(H)-pH (B) pM-pH
(C) lgK'(MY)-pH (D) lgY(H)-pH

13. --------------------------------------------------------( )
(A) ,
(B) ,
(C)
(D)

14. BCl3 NCl
-------------------------------------------------------------( )

(A) sp3 (B) sp3 (C) dsp2 (D) sp2

15. :
(a) 0.10 mol/L HCl-0.20 mol/L NaAc
(b) 0.20 mol/L HAc-0.10 mol/L NaOH
(c) 0.10 mol/L HAc-0.10 mol/L NH4Ac

pH ----------------------------------------------------------( )
[ pKa(HAc) = 4.74, pKa(NH4+) = 9.26]
(A) a<c<b (B) a = b<c (C) a = b>c (D) a = b = c

16. Ca2+ Mg2+ Al3+ Fe3+, , pH=10, T
, EDTA , ------------------------------------------------( )
(A) Mg2+ (B) Ca2+
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(C) Ca2+, Mg2+ (D) Ca2+,Mg2+,Al3+,Fe3+

17. pH 11.90, -------------------------( )
(A) 1×10-12 mol/L (B) 1.3×10-12 mol/L
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26. IUPAC
C C

C

H

H3C

C(CH3)3

C

CH3

H H

……………………………

(A) (Z, Z)-3- -2, 4-
(B) , -3- -2, 4-
(C) (E, Z)-3- -2, 4-
(D) 1, 4- -2- -1,3-

27. K2Cr2O7 Fe2+, ,
-------------------( )

(A) [Fe3+] = [Cr3+], [Fe2+] = [Cr2O72-]
(B) 3[Fe3+] =[Cr3+], [Fe2+] = 6[Cr2O72-]
(C) [Fe3+] = 3[Cr3+], [Fe2+] = 6[Cr2O72-]
(D) [Fe3+] = 3[Cr3+], 6[Fe2+] = [Cr2O72-]

28. H2S ………………………
(A) Be2+ Al3+ (B) Sn2+ Pb2+

(C) Be2+ Sn2+ (D) Al3+ Pb2+

29. ………………………………………
(A) Ne Ar Kr Xe (B) Mg Ca Sr Ba
(C) B C N O (D) Cr Mn Fe Co

30. 
mrG < 0 ………………………………

(A) (B)
(C) (D)

8 2 40
1 k ________

_________ k __________ k __________

2. _________ _________
_________ _________ _________
3. CaCO3 :( A B C)

(1) ____
(2) EDTA ____
(3) KMnO4 ____
A B C

4.
  
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5.
6. HCl , AgCl __ __,
___________________________________
7. , ________
8. Na(NH4)HPO4 ______________________________________

3 6 18
1.

M
M
M

2.

3.

1 7
1. Hg2Cl2 CuCl AgCl

4 1-3 6 4 7 25
1. MR2,M 5.0×10-5mol/L, R 2.0×10-5mol/L,

1cm 63%,  = 4×104L/(mol·cm)

2. A(g) + 3B(g) + 2C(g)   D(g) + 2E(g)

cA
(mol·dm-3)

cB
(mol·dm-3)

cC
(mol·dm-3)

d(D) / dt
(mol·dm-3·min-1)

0.20 0.40 0.10 X
0.40 0.40 0.10 4x
0.40 0.40 0.20 8x
0.20 0.20 0.20 X

(1) A B C
(2)
(3) x = 6.0  10-2 mol·dm-3·min-1
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3. Ag++ e


Ag AgCl + e


Ag + Cl


0.799 V
0.2221V AgCl

4. pH = 10.0 0.20 mol / L 2.0  10-2mol
/ L EDTA Cu2+ pCu pCu

[ pH = 10.0 lg Y(H) = 0.5 , lg Cu(OH) = 1.7 , lg K(CuY) = 18.8 ,
Cu2+-NH3 lg 1 lg 5 4.31 7.98 , 11.02 , 13.32 , 12.86]


